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TWO-HARNESS METEOD -~ 2.

TURNED TwilLLS

Of many weaves which can be woven adventageously on a two-har-
ness loom the turucd twills are the most typical. For that matter
many looms of this trpe are built ewclusively for weavins the VDU
cless (Dimity, Dornick, Diaper, Damask). Perhaps before we jo “uriier
we shall give definitions of all these terms. Eocept for danasi they
are all obsolete, but they have no corresponding torms in our modorn
lanpuage, and concequentlv we co not hogitats to bring them back to

ife in thelir proper menning.

Dimity (not vimity cord) is turred
vhich oﬁE“EE}t of the fatric ic wovern as L
and uncer two warp ends), and the other as 2
2-block vattern can be made on 6 frames, 3 on 9,
It has alwavs a Jdiagonal.

Dorricl: (ut no%t Dornick twill) is a sinilar wecave based on
1:2 and.ﬁ?i"uuull In plain wraving 4 franecs ar: roquircd for cach
block of pattern, It can b biascd or broxen. Vlien it is broken it may
be sometimes called rough Jdamask or just Jamask, but this cxtension of
the neaning of the word Hdanmask" is rather confusing and should beo
avoided. The proner teru for such an imitation of damark is '’
anothoer obsolete word.

Diapcer (agein has two meanings). Any turned twill as long as
it i3 not damaslz proper. Thus both dimity and dornick are diwnors, but
besides those any twill of bhisher order (L:il, 1:5, 1:6 cotc) if turncd
but not broken into a satin will belong hore.

Damagk is a turned satin. Since satin is a broken twill of the
type 1:N where N Zs moroe then 3, and where the breakins of the diagonal
is done according to certain rules, not every twill L'Q 1:6 ete cven
if broken is necessarily damazk., Fowever in practic? such twills arc
seldon woven and 1t is witiicr biaced twill (which gives diaper) or
satin vhich gives damasik. In plain weaving the simolest domack can be
woven on 10 frames - 5 framos per block of pattorn.
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Ve should like to emphasizo thal all thoase terms belo to the
18~ih century haidd weaving, and that no bettor or simpler torms have
beon used in hand weaving sinee,

To compare the number of frames ncoded for thoe above weaves
both vith singlo and two-harncss looms we give the tadle below:
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weavae: blo o single harness: two-harnegs loon:
DIMITY 6 frames 6 treadles 5 frames 3 trendles
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It is obvious from the above that hardly any pattern with more
than two blocks can be woven on a 3ingle harness. It is not even the
number of frames which gets too high, but the number of trcadles.

Vith two-harness method we can go c¢asily into higher damasks with a
roasonable number of frames and a very low number of treadles which
is s5till more important,

There is another point here worth consideration., lhoen we speak
about the *fotal number of frames uscd in two-harncss metliod, some of
theom are pattern frames. This means that not only they arc not opcrated
by trcadles, which makes weaving so much simpler, but also that they
contain very few lLicddles. Tor instance if we have a profile for 5 block
damask like the one in fiz.l, where each “mi is cqual to 2 units of
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danask (lO onds), we need for the whole draft (590 ends) only 59 heddles
on =11 % vattern francs, an average of 12 he uﬂldv per frare., The po-
sition O%ﬁhu<n nattern fraues will be changed only 27 tlmbs during the
weaving of one snuare, comparcd with nearly 000 movements of the ground
harness. Thus the pattern haruness really does not matter very muich in
weaving of turned twills. Once we have a loom with 10 pattern frames,

it is as easy or difficult to woave a two-block, as a 10-bloci pattern.

The recal problen in drafting for two-harness netlod is the
tic—up. In all turae” T 1115 wovon on gingle harness looms we desipgn
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the tic—-up-s¢ that the blocks of pattern are clearly fcut® from one
another, i.c¢., that no floats ecither in warp or in weft cross the border
linc betweon two blocks (comm, "o Logic of Tie-Ups™ in MW 3, 1952).
But what happens in the tvo-harncss mothod? Le''s look on the floats
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in the draw-down on fig.2. There are 4 floats in weft and 4 in warp
crossing the line bwetween blocis. VAth a differeant tie-vp (£17.3)

the blocks will be cut on two sides and "uncut™ on the two renaining
ones., Mnally with *he tie-up in fig.h4 we have all blocks cut properly.
“le may notice at the same time that the diasonal in Tig.2 and 3 runs
in the same dircction in hoth blocks of the pattern, when in fig., &
twill 3:1 khas a left hand, and twill 1:3 - a right hand diagonal.

When instead of a bics~d twill we have a broken onc, the situ-
ation remnins the same, i.e. the samo tie-up will scrve 1in both cages
However the treadling must be 1,3,2,% or 4,3,2,1 but not 1,2,4,3 or
2,1,%,4. In other words the first and the last treadle in the roncat
of = bias2da twill must roamain the sane whon changing from biascd to
brolzen twill., TFig.5 shows wiat noppras whoen w2 do not follow this rule.
llers the bloclis arc cut in the vertical direoction but not so in the
Lorizontal. There are & floats in varm whick cross thoe lino.

,4. wnd 5 w2 have omitted completely the pattern
cur it is alwavs in the same vosition.

Thus w2 have found two principles which secm to guarantec the
success in cutiing tn; bloclis: 1-5t the diagonals in two adjoining
hlocks must run in opposite directions; 2-nd cach repeat of brolien
treadling must start and end with the same troadle as in the biascd
trecdling. We shall sz2e lator liow to apply these princinles to other
twills than dornick.
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WEAVING TERMINCLOGY.

Counter-narchz. (fr.Fr.%contrc-marche) It is hard to say
vhether the confusion startod alraady in French or only later on in
elish. Origzinally Mmarche’ moant tihe same as treadle (thus '"larchure'
means treadling;, ard a counter-marche was the same 25 a lamm. Jow in
double-tiv-up lcoms we distinguish botween the snort larms, and long

onecis, caliing tie latter -~ countor-marchos., There is losdic in that
”countcr” because the long lemns move in the orpozite dircction to the
i

hort ones, but marche® is positively wrong. Uhy not call it "counter
lamm™, or just long lamm?

The double-tiec-up loom is called accordingly flcounter-marche
loom™, which recally mcans a loon with lamms (any lamms). ‘Double-tic-
up’t itsclf sounds artificial, but "Swedish? which is supposod to mean
the same, really docs not mean anvthing at all, All kinds of looms
arc and always wero usced in swodon.

Sinking and Rising Sheds. The terminology iteelf here is flaw—
ess. But itg application not so. For instance tne jack-tvpe loons
are obviously of the "rising shed' type. It means that the whole warp
remains Psunk®, and the sh2ds open by rising a part of the warp. The
sane applies to the table looms. But it i3 wrong to say that a counter-
balanced loom works on the principle of Vsinking shed'. The shed opens
in two directions. Each tr””dle no matter row tied will pull dovn one
part of the warp and rise another. If necessary it can even leave
some of the warp onds in the ncucral position, as for instance in two-
harness methiod (I 13).
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